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Eq. R.A., DEC (J2K) = 279.6345, 15.0385
Gal. |, b= 45.0000, 9.5941

NUV Area [deg’]= 9659
MUY Sources (s/n=3) [N]= 176808

NUV Source density (s/n=3) [N/deg®]= 1830.58
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Eq. R.A., DEC (J2K) = 274 5476, 28.9559
Gal. I, b= 56.2500, 19.4712

NUV Area [deg?]= 123.62
MUY Sources (s/n=3) [N]= 264239
NUV Source density (s/n=3) [N/deg®]= 2137.58
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Eq. R.A., DEC (J2K) = 2657313, 9.4377
Gal. I, b = 33.7500, 19.4712

NUV Area [deg?]= 161.72
MUY Sources (s/n=3) [N]= 285849
NUV Source density (s/n=3) [N/ideg®]= 1792.30
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Eq. R.A., DEC (J2K) = 259.6906, 22.9007
Gal. I, b= 45.0000, 30.0000

NUV Area [deg’]= 175.50
MUY Sources (s/n=3) [N]= 302683
NUV Source density (s/n=3) [N/ideg’= 1724.71
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Eq. R.A., DEC (J2K) = 2656458, 41.7057
Gal. I, b= 67.5000, 30.0000

NUV Area [deg?]= 173.44
MUY Sources (s/n=3) [N]= 286031
NUV Source density (s/n=3) [N/ideg®]= 1706.80

pirel &ll_axpime —
Source all_expime |
il explime

E -
nn

400 600 800 1000
MUY explime [s]

pizal background |
L source bachground |

0.002 0.004 0.006 0.008
NUV background [cps/arcsec’]

0.000 0.010

N AR AN LR AR LR REREN EARA

14 16 18 20 22
MUV mag (sn = 3)

0 12

Lo LT

= [T T

25

MUV mag (sn = 3)

-2 0 2 4 6
FUWV - MUV mag (s/n = 3)

N

10°
10*
10°

10°

108
10*
10°

10°

[#5]

= [T T

log s

—y

10

15

MUV

25

FUV Area [deg?= 17341
FUV Source (s/n=3) [N]= 23187
FUV Source dersity (s/r=3) [N'deg’]= 133.71

pirel &ll_axpime T
Source all_expime |
il explime

400 600 800
FUV exptime [s]

1000

= pizal Background =
sourea background |

0.002 0.004 0.006 0.008
FUV background [cps/arcsec’]

0.000 0.010

16 18
FUV mag (s'n=3)

12 14

20 25
FUV mag (s'n=3)

15

-2 0 2 4 6 8
FUWV - MUV mag (s/n = 3)

—
=



10°

10*

ASC 005

Eq. R.A., DEC (J2K) = 248.9195, 51.2334
Gal. |, b= 78.7500, 41.8103

NUV Area [deg’]= 175.39
MUY Sources (s/n=3) [N]= 326719
NUV Source density (s/n=3) [N/ideg’]= 1862.82
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Eq. R.A., DEC (J2K) = 249.0262, 34.5114
Gal. I, b= 56.2500, 41.8103

NUV Area [deg’]= 190.81
MUY Sources (s/n=3) [N]= 362234
NUV Source density (s/n=3) [N/deg®]= 1898.37
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Eq. R.A., DEC (J2K) = 2313104, 45.8086
Gal. I, b= 75.0000, 54.3409

NUV Area [deg’]= 178.13
MUY Sources (s/n=3) [N]= 265776
NUV Source density (s/n=3) [N/ideg]= 1492.07
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Eq. R.A., DEC (J2K) = 2516259, 5.0735
Gal. I, b= 22.5000, 30.0000

NUV Area [deg?]= 185.90
MUY Sources (s/n=3) [N]= 340446
NUV Source density (s/n=3) [N/ideg®]= 1831.34
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Eq. R.A., DEC (J2K) = 244 5649, 18.2679
Gal. I, b = 33.7500, 41.8103

NUV Area [deg?]= 180.89
MUY Sources (s/n=3) [N]= 282109
NUV Source density (s/n=3) [N/ideg’]= 1559.56
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Eq. R.A., DEC (J2K) = 236.7932, 3.3772

Gal. |, b= 11.2500, 41.8103

NUV Area [deg?]= 191.29
MUY Sources (s/n=3) [N]= 274038
NUV Source density (s/n=3) [N/deg]=

1432.58
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Eq. R.A., DEC (J2K) = 227 4276, 12.1661
Gal. |, b= 15.0000, 54.3409

NUV Area [deg?]= 193.32
MUY Sources (s/n=3) [N]= 222824
NUV Source density (s/n=3) [N/ideg®]= 1153.13
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Eq. R.A., DEC (J2K) = 233.3568, 28.6175
Gal. I, b= 45.0000, 54.3409

NUV Area [deg’]= 162.65 FUV Area [deg?= 16257
MUY Sources (s/n=3) [N]= 236435 FUV Source (s/n=3) [MN]= 31324
NUV Source density (s/n=3) [N/ideg®]= 1453.67 FUV Source dersity (s/r=3) [N'deg’]= 19268
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Eq. R.A., DEC (J2K) = 2176534, 38.3012
Gal. I, b= 67.5000, 66.4435

NUV Area [deg’]= 195.49
MUY Sources (s/n=3) [N]= 287798
NUV Source density (s/n=3) [N/ideg= 1472.21
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Eq. R.A., DEC (J2K) = 2059776, 28.9645
Gal. I, b = 45.0000, 78.2841
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Eq. R.A., DEC (J2K) = 48.1425, 69.0902
Gal. I, b = 135.0000, 9.5941
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Eq. R.A., DEC (J2K) = 88.1275, 67.3015
Gal. I, b = 146.2500, 19.4712
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Eq. R.A., DEC (J2K) = 18.6302, 82.3063
Gal. I, b = 123.7500, 19.4712

NUV Area [deg’]= 125.21
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Eq. R.A., DEC (J2K) = 120.8585, 79.0250
Gal. I, b = 135.0000, 30.0000

NUV Area [deg’]= 166.78
MUY Sources (s/n=3) [N]= 225368
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Eg. R.A., DEC (J2K) = 116.5633, 59.6177
Gal. |, b= 157.5000, 30.0000

NUV Area [deg’]= 194.09
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Eqg. R.A., DEC (J2K) = 136.5578, 50.0236
Gal. |, b= 168.7500, 41.8103
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Eq. R.A., DEC (J2K) = 146.4854, 65.9465
Gal. I, b = 146.2500, 41.8103
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Eg. R.A., DEC (J2K) = 156.2517, 49.0812
Gal. |, b = 165.0000, 54.3409
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Eq. R.A., DEC (J2K) = 263.0035, 80.4028

Gal. |, b= 112.5000, 30.0000

NUV Area [deg’]= 161.01
MUY Sources (s/n=3) [N]= 198875

NUV Source density (s/n=3) [N/ideg®]= 1235.16
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Eq. R.A., DEC (J2K) = 190.4555, 75.3027
Gal. I, b = 123.7500, 41.8103

NUV Area [deg’]= 184.68
MUY Sources (s/n=3) [N]= 224284
NUV Source density (s/n=3) [N/ideg®]= 1214.48
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Eq. R.A., DEC (J2K) = 2376391, 66.9867
Gal. I, b = 101.2500, 41.8103

NUV Area [deg’]= 172.24
MUY Sources (s/n=3) [N]= 222341
NUV Source density (s/n=3) [N/deg®]= 1290.87
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Eq. R.A., DEC (J2K) = 213.7522, 59.7815
Gal. |, b = 105.0000, 54.3409

NUV Area [deg’]= 171.85
MUY Sources (s/n=3) [N]= 215850
NUV Source density (s/n=3) [N/ideg]= 1256.02
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Eq. R.A., DEC (J2K) = 178.1165, 61.3840
Gal. I, b = 135.0000, 54.3409

NUV Area [deg’]= 181.11 FUV Area [deg”= 18085
MUY Sources (s/n=3) [N]= 256756 FUV Source (s/n=3) [N]= 43601
NUV Source density (s/n=3) [N/ideg®]= 1417.68 FUV Source dersity (s/r=3) [N'deg’]= 241.09
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Eq. R.A., DEC (J2K) = 174.0507, 45.3062
Gal. I, b = 157.5000, 66.4435

NUV Area [deg’]= 198.49
MUY Sources (s/n=3) [N]= 246587
NUV Source density (s/n=3) [N/ideg= 1242.31
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Eq. R.A., DEC (J2K) = 199.3446, 50.1560
Gal. I, b = 112.5000, 66.4435

NUV Area [deg’]= 168.01 FUV Area [deg”= 168.01

MUY Sources (s/n=3) [N]= 265616 FUV Source (s/n=3) [MN]= 46286
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Eq. R.A., DEC (J2K) = 189.7476, 38.5509
Gal. |, b = 135.0000, 78.2841

NUV Area [deg’]= 186.43
MUY Sources (s/n=3) [N]= 256731
NUV Source density (s/n=3) [N/ideg’]= 1377.13

106F
10°F
10°

10°+

pmel efl_axpime |
Source all_expime
il explime

fﬂJﬁfL?ﬂ nino ] :

200 400 600
MUY explime [s]

10%
10* -
10%}-

100F

pizal Background  —
sourea background |

0.002 0.004 0.006 0.008
NUV background [cps/arcsec’]

0.000 0.010

200

N/deg”
=
=
e .

o 3

14 16 18 20 22
MUV mag (sn = 3)

]
B

= [T T

25

MUV mag (sn = 3)

2

=

N/deg”

-2 0 2 4 6
FUWV - MUV mag (s/n = 3)

10°
104
102

10°

10°
10*
10°

10°

log s
L

—y

10

15

MUV

25

FUV Area [deg”= 186.39
FUV Source (s/n=3) [N]= 44270

FUV Source density (s/n=3) [N/deg’]=

237.52

pirel &ll_axpime —
Source all_expime |
il explime

;Jk#hHﬁf1ﬂﬂﬂfT :

600
FUV exptime [s]

800

-_ pizal Background _-
| sturte background |

0.000 0.002 0.004 0.006 0.008 0.010

FUV background [cps/arcsec’]
12 14 16 18 20 22
FUV mag (s'n=3)

0 25

-4 -2 0 2 4 6 i) 10

FUWV - MUV mag (s/n = 3)



ASC 032

Eg. R.A., DEC (J2K) = 116.9671, -6.1697
Gal. |, b= 225.0000, 9.5541

NUV Area [deg’]= 7426
MUY Sources (s/n=3) [N]= 218352
NUV Source density (s/n=3) [N/ideg’]= 2940.78

piel &ll_axpime
Source all_expime
il expime |

400 600 800 1000
MUY explime [s]

10°
10°
10*

pizal Background ]
Source background

10°
102
10
10°
10

0.000 0.002 0.004 0.006 0.008 0.010
NUV background [cps/arcsec’]

N/deg”

12 14 16 18 20 22
MUV mag (sn = 3)

= [T T

25
MUV mag (sn = 3)

15

10

N/deg”

-2 0 2 4 6
FUV — NUV mag (s/n = 3)

108
10*
10°

10°

108
10*
10°

10°

[#5]

= [T T

log s

—y

10

15

MUV

25

FUV Area [deg’= 74.26
FUV Source (s/n=3) [N]= 12844
FUV Source dersity (s/r=3) [Nideg’]= 17295

piel &ll_axpime
Source all_axpime
il expime _|

200

400 600 800 1000
FUV exptime [s]

pizal Background
source background 4

0.000

0.002 0.004 0.006 0.008 0.010

FUV background [cps/arcsec’]

12

14 16 18 20
FUV mag (s'n=3)

4]
4]

25

0 2 4 6 8
FUV — NUV mag (s/n = 3)

—
=



ASC 034

Eq. R.A., DEC (J2K) = 120.6666, 8.0487
Gal. I, b = 213.7500, 19.4712

NUV Area [deg’]= 154.04
MUY Sources (s/n=3) [N]= 382134
NUV Source density (s/n=3) [N/ideg®]= 2480.71
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Eq. R.A., DEC (J2K) = 134.7797, 3.8330
Gal. I, b = 225.0000, 30.0000

NUV Area [deg’]= 170.63
MUY Sources (s/n=3) [N]= 309969
NUV Source density (s/n=3) [N/ideg®]= 1816.61
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Eq. R.A., DEC (J2K) = 146.0328, —12.0826
Gal. I, b = 247.5000, 30.0000

NUV Area [deg?]= 173.63
MUY Sources (s/n=3) [N]= 238852
NUV Source density (s/n=3) [N/ideg®]= 1382.00
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Eq. R.A., DEC (J2K) = 161.0362, -9.8881
Gal. I, b = 258.7500, 41.8103

NUV Area [deg’]= 193.94
MUY Sources (s/n=3) [N]= 291480
NUV Source density (s/n=3) [N/ideg’]= 1502.92
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Eq. R.A., DEC (J2K) = 149.6188, 23732
Gal. I, b = 236.2500, 41.8103

NUV Area [deg’]= 193.33 FUV Area [deg?= 193.10
MUY Sources (s/n=3) [N]= 304739 FUV Source (s/n=3) [M]= 53142
MUV Source density (s/n=3) [N/ideg®]= 1576.25 FUV Source dersity (s/r=3) [Nideg’]= 275.20
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Eq. R.A., DEC (J2K) = 167.2094, 1.3102
Gal. I, b = 255.0000, 54.3409

NUV Area [deg’]= 187.97
MUY Sources (s/n=3) [N]= 2389591
NUV Source density (s/n=3) [N/ideg]= 1276.73
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Eq. R.A., DEC (J2K) = 126.5379, 21.5646
Gal. I, b = 202.5000, 30.0000

NUV Area [deg’]= 177.70
MUY Sources (s/n=3) [N]= 264597
NUV Source density (s/n=3) [N/ideg®]= 1491.25
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Egq. R.A., DEC (J2K) = 1416108, 17.1286
Gal. |, b= 213.7500, 41.8103

NUV Area [deg’]= 186.29 FUV Area [deg”= 186.29
MUY Sources (s/n=3) [N]= 246763 FUV Source (s/n=3) [MN]= 34634
NUV Source density (s/n=3) [N/ideg’]= 1324.64 FUV Source dersity (s/r=3) [N/deg’]= 18592
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Eq. R.A., DEC (J2K) = 136.8924, 33.3032
Gal. I, b = 191.2500, 41.8103

NUV Area [deg’]= 195.37
MUY Sources (s/n=3) [N]= 287438
NUV Source density (s/n=3) [N/ideg®]= 1471.25
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Eg. R.A., DEC (J2K) = 152.0026, 32.0208
Gal. |, b = 195.0000, 54.3409

NUV Area [deg’]= 194.80
MUY Sources (s/n=3) [N]= 234074
NUV Source density (s/n=3) [N/ideg= 1201.61
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Egq. R.A., DEC (J2K) = 1566517, 15.1896
Gal. |, b = 225.0000, 54.3409

NUV Area [deg’]= 167.33
MUY Sources (s/n=3) [N]= 216185
NUV Source density (s/n=3) [N/ideg]= 1291.97
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Eq. R.A., DEC (J2K) = 173.1613, 12.4844
Gal. I, b = 247.5000, 66.4435

NUV Area [deg’]= 174.04 FUV Area [deg?= 17385
MUY Sources (s/n=3) [N]= 185443 FUV Source (s/n=3) [MN]= 32644
NUV Source density (s/n=3) [N/deg®]= 1065.53 FUV Source dersity (s/r=3) [N'deg’]= 187.77
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Eq. R.A., DEC (J2K) = 166.1988, 28.8415
Gal. I, b = 202.5000, 66.4435

NUV Area [deg?]= 191.95
MUY Sources (s/n=3) [N]= 207663
NUV Source density (s/n=3) [N/deg®]= 1081.83
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Eq. R.A., DEC (J2K) = 180.2930, 24.1232
Gal. |, b = 225.0000, 78.2841

NUV Area [deg?]= 190.53
MUY Sources (s/n=3) [N]= 185584
NUV Source density (s/n=3) [N/ideg®]= 974.04
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Eg. R.A., DEC (J2K) = 212.1798, -51.4578
Gal. |, b= 315.0000, 9.5941

NUV Area [deg]= 16.73
MUY Sources (s/n=3) [N]= 33256
NUV Source density (s/n=3) [N/deg®]= 1990.58
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Eg. R.A., DEC (J2K) = 221.2165, -38.2110
Gal. |, b= 326.2500, 19.4712

NUV Area [deg’]= 69.00 FUV Area [deg?= 69.00
MUY Sources (s/n=3) [N]= 114044 FUV Source (s/n=3) [M]= 5113
NUV Source density (s/n=3) [N/ideg’]= 1652.92 FUV Source dersity (s/r=3) [N'deg’]=  74.11
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Eq. R.A., DEC (J2K) = 193.9209, -43.3938
Gal. I, b = 303.7500, 19.4712

NUV Area [deg’]= 130.68
MUY Sources (s/n=3) [N]= 212887
NUV Source density (s/n=3) [N/ideg’]= 1629.12
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Eg. R.A., DEC (J2K) = 205.1490, -31.7172
Gal. |, b = 315.0000, 30.0000

NUV Area [deg’]= 158.16
MUY Sources (s/n=3) [N]= 258819
NUV Source density (s/n=3) [N/ideg®]= 1643.37
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Eq. R.A., DEC (J2K) = 2253974, -23.9968
Gal. I, b = 337.5000, 30.0000

NUV Area [deg’]= 172.32
MUY Sources (s/m=3) [N]= 175551
NUV Source density (s/n=3) [N/ideg®]= 1018.77
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Eq. R.A., DEC (J2K) = 2256348, ~9.1100
Gal. I, b = 348.7500, 41.8103

NUV Area [deg’]= 169.17
MUY Sources (s/n=3) [N]= 187504
NUV Source density (s/n=3) [N/idegi= 1110.71
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Eg. R.A., DEC (J2K) = 2109078, -17.7694

Gal. |, b = 326.2500, 41.8103

NUV Area [deg’]= 194.07
MUY Sources (s/n=3) [N]= 216033

NUV Source density (s/n=3) [N/idegi= 1113.19
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Eq. R.A., DEC (J2K) = 2158534, —0.8403
Gal. I, b = 345.0000, 54.3409

NUV Area [deg?]= 188.97
MUY Sources (s/n=3) [N]= 301755
NUV Source density (s/n=3) [N/deg®]= 1596.83
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Eq. R.A., DEC (J2K) = 182.2031, -32.0068
Gal. I, b = 292.5000, 30.0000

NUV Area [deg’]= 165.89
MUY Sources (s/n=3) [N]= 225809
NUV Source density (s/n=3) [N/ideg®= 1361.17
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Eg. R.A., DEC (J2K) = 193.5129, -21.0573
Gal. |, b = 303.7500, 41.8103

NUV Area [deg?]= 190.00
MUY Sources (s/n=3) [N]= 274245
NUV Source density (s/n=3) [N/deg®]= 1443.38
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Eq. R.A., DEC (J2K) = 176.0083, 18.2061
Gal. I, b = 281.2500, 41.8103

NUV Area [deg’]= 184.96 FUV Area [deg”)= 184 .96
MUY Sources (s/n=3) [N]= 238368 FUV Source (s/n=3) [MN]= 27163
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Eq. R.A., DEC (J2K) = 182.4395, —7.0733
Gal. I, b = 285.0000, 54.3409

NUV Area [deg’]= 186.88
MUY Sources (s/n=3) [N]= 241407
NUV Source density (s/n=3) [N/ideg®= 1291.75
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Eq. R.A., DEC (J2K) = 199.9271, -7.8671
Gal. I, b = 315.0000, 54.3409

NUV Area [deg’]= 190.64
MUY Sources (s/n=3) [N]= 236210
NUV Source density (s/n=3) [N/ideg®]= 1239.02
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Eq. R.A., DEC (J2K) = 206.0713, 7.1862
Gal. I, b = 337.5000, 66.4435

NUV Area [deg’]= 192.84
MUY Sources (s/n=3) [N]= 235129
NUV Source density (s/n=3) [N/idegi= 1219.27

10%-
10*

10°

10°

10 i

pirel &ll_axpime T
Source all_expime |
il explime

et WY

MUY explime [s]

800 1000

10%
10* -
10%}-

10°

pizal Background T
source background

0.000

0.002 0.004 0.006
NUV background [cps/arcsec’]

0.008 0.010

N/deg”

12

14

16 18 20
MUV mag (sn = 3)

22

= [T T

—y

MUV mag (sn = 3)

25

8 88

N/deg”
=

—
=

0 2 4
FUWV - MUV mag (s/n = 3)

10°
10*
10°

10°

10°
10*

10°

E R

—y

—y

N/deg”
oDm o oM

[#5]

= [T T

log s

—y

10

15

MUV

25

FUV Area [degd= 192.31
FUV Source (s/n=3) [N]= 37531
FUV Source density (s/n=3) [N/deg’]=

18516

1

0 . Marlilino

piel &ll_axpime

Source all_axpime
il expime 7

200

400 600
FUV exptime [s]

800

1000

source background

pizal Background

0.000

0.002 0.004 0.006

FUV background [cpsfar

0.008

csec’)

0.010

12

14

16 18 20
FUV mag (s'n=3)

22

25

0 2 4 6 8

FUWV - MUV mag (s/n = 3)

—
=



N/deg”

N/deg”

10%+
104k

10°

1nﬂ_’_|J_L—|_LL'_'—|_I_'_‘—‘

10°+
10*F -
10° -

100k .

ASC 062

Eq. R.A., DEC (J2K) = 188.7000, 3.9094
Gal. I, b = 292.5000, 66.4435

NUV Area [deg’]= 196.28
MUY Sources (s/n=3) [N]= 256538
NUV Source density (s/n=3) [N/ideg®= 1307.02
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Eq. R.A., DEC (J2K) = 1953864, 15.6499
Gal. I, b = 315.0000, 78.2841

NUV Area [deg?]= 203.97
MUY Sources (s/n=3) [N]= 241410
NUV Source density (s/n=3) [N/deg®]= 1183.53
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Eq. R.A., DEC (J2K) = 300.4406, -40.3162
Gal. b= 0.0000, -30.0000

NUV Area [deg’]= 175.70
MUY Sources (s/n=3) [N]= 421764
NUV Source density (s/n=3) [N/ideg®]= 2400.50
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Eq. R.A., DEC (J2K) = 201.8002, -27.5162
Gal. b= 11.2500, -19.4712

NUV Area [deg’]= 137.98
MUY Sources (s/n=3) [N]= 344266
NUV Source density (s/n=3) [N/ideg®]= 2495.05
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Eq. R.A., DEC (J2K) = 2826090, —47.4585
Gal. I, b = 348.7500, -19.4712

NUV Area [deg’]= 105.21
MUY Sources (s/n=3) [N]= 341609
NUV Source density (s/n=3) [N/ideg’]= 3247.06
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Eq. R.A., DEC (J2K) = 2762363, -33.5775
Gal. b= 0.0000, -9.5941

NUV Area [deg’]= 1665
MUY Sources (s/n=3) [N]= 67021
NUV Source density (s/n=3) [N/ideg®]= 4025.35
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Eq. R.A., DEC (J2K) = 286.8073, —13.5852
Gal. I, b= 22.5000, -9.5941

NUV Area [deg’]= 8150
MUY Sources (s/n=3) [N]= 160186
NUV Source density (s/n=3) [N/deg®]= 1965.58
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Eq. R.A., DEC (J2K) = 283.2325, 0.7281
Gal. I, b= 33.7500, 0.0000

NUV Area [deg’]= 11.33
MUY Sources (s/n=3) [N]= 9876
NUV Source density (s/n=3) [N/ideg®]= 871.69
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Eg. R.A., DEC (J2K) = 2725839, -19.1965
Gal. |, b= 11.2500, 0.0000

NUV Area [deg’]= 1.66 FUV Area [deg”= 1.66
MUY Sources (s/n=3) [N]= 1655 FUV Source (s/n=3) [N]= 166
NUV Source density (s/n=3) [N/ideg®]= 998.97 FUV Source density (s/n=3) [N/deg’]= 100.20
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Eq. R.A., DEC (J2K) = 269.5310, -4.7551
Gal. I, b= 22,5000, 9.5941

NUV Area [deg’]= B4.06
MUY Sources (s/n=3) [N]= 57258
NUV Source density (s/n=3) [N/ideg®]= 681.12
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Eq. R.A., DEC (J2K) = 261.2244, -52.9976
Gal. |, b = 337.5000, -9.5941

NUV Area [deg’]= 2854 FUV Area [deg”= 28.54

MUY Sources (s/n=3) [N]= 81564 FUV Source (s/n=3) [N]= 4071

NUV Source density (s/n=3) [N/ideg’]= 2857.73 FUV Source dersity (s/r=3) [N'deg’]= 14263
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Eq. R.A., DEC (J2K) = 240.0317, -40.2869
Gal. I, b = 337.5000, 9.5941

NUV Area [deg]= 25.52
MUY Sources (s/n=3) [N]= 26173
NUV Source density (s/n=3) [N/ideg®]= 1025.43
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Eg. R.A., DEC (J2K) = 2574712, -23.6451
Gal. |,b= 0.0000, 9.5941

NUV Area [deg’]= 58.79
MUY Sources (s/n=3) [N]= 64738
NUV Source density (s/n=3) [N/idegi= 1101.17
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Eq. R.A., DEC (J2K) = 2553892, ~9.0914
Gal b= 11.2500, 19.4712

NUV Area [deg’]= 96.80
MUY Sources (s/n=3) [N]= 52105
MUV Source density (s/n=3) [N/ideg®]= 538.27
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Eq. R.A., DEC (J2K) = 241.4498, -25.6453
Gal. I, b = 348.7500, 19.4712

NUV Area [deg?]= 2424
MUY Sources (s/n=3) [N]= 22865
NUV Source density (s/n=3) [N/ideg®]= 947.56
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Eq. R.A., DEC (J2K) = 2406340, ~11.0124
Gal. b= 0.0000, 30.0000

NUV Area [deg?]= 140.89
MUY Sources (s/n=3) [N]= 108305
NUV Source density (s/n=3) [N/ideg®]= 775.84
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Eq. R.A., DEC (J2K) = 341 6281, 24.7660
Gal. I, b = 90.0000, -30.0000

NUV Area [deg?]= 181.12
MUY Sources (s/n=3) [N]= 282416
MUV Source density (s/n=3) [N/ideg®]= 1559.27
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Eq. R.A., DEC (J2K) = 3462781, 38.8827
Gal. I, b = 101.2500, -19.4712

NUV Area [deg’]= 120.94
MUY Sources (s/n=3) [N]= 192603
NUV Source density (s/n=3) [N/deg’]= 1592.49
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Eq. R.A., DEC (J2K) = 3254947, 26.727T1
Gal. |, b= 787500, -194712

NUV Area [deg?]= 151.18
MUY Sources (s/n=3) [N]= 291628
NUV Source density (s/n=3) [N/ideg’]= 1928.96
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Eq. R.A., DEC (J2K) = 327.3012, 41.3409
Gal. I, b = 90.0000, -9.5941

NUV Area [deg’]= 5556
MUY Sources (s/n=3) [N]= 110048
NUV Source density (s/n=3) [N/deg®]= 1980.58
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Eq. R.A., DEC (J2K) = 356.0372, 51.9095
Gal. I, b = 112.5000, -9.5941

NUV Area [deg’]= 5369
MUY Sources (s/n=3) [N]= 123448
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Eq. R.A., DEC (J2K) = 14.6531, 62.8604
Gal. I, b = 123.7500, 0.0000

NUV Area [deg’]= 13.08
MUY Sources (s/n=3) [N]= 8860
NUV Source density (s/n=3) [N/ideg®]= 677.44
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Eq. R.A., DEC (J2K) = 331.7736, 55.7939
Gal. I, b = 101.2500, 0.0000

NUV Area [deg’]= 1.26
MUY Sources (s/n=3) [N]= 4460

NUV Source density (s/n=3) [N/deg’]= 3532.83
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Eq. R.A., DEC (J2K) = 341 5773, 69.8897
Gal. I, b = 112.5000, 9.5941

NUV Area [deg]= 76.08
MUY Sources (s/n=3) [N]= 65786
NUV Source density (s/n=3) [N/ideg®]= 864.69
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Eq. R.A., DEC (J2K) = 309.2812, 24.9550
Gal. I, b= 67.5000, -9.5941

NUV Area [deg’]= 65.84
MUY Sources (s/n=3) [N]= 170358
NUV Source density (s/n=3) [N/deg’]= 2588.13
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Eq. R.A., DEC (J2K) = 307.9952, 39.6605
Gal. |, b= 78.7500, 0.0000

NUV Area [deg?]= 4.59
MUY Sources (s/n=3) [N]= 10529
NUV Source density (s/n=3) [N/ideg’]= 2294.13
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Eg. R.A., DEC (J2K) = 293.9791, 20.6274
Gal. |, b= 56.2500, 0.0000

NUV Area [deg?]= 8.27
MUY Sources (s/n=3) [N]= 15956
NUV Source density (s/n=3) [N/ideg’]= 1934.66
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Eq. R.A., DEC (J2K) = 290.3508, 35.0227
Gal. I, b= 67.5000, 9.5941

NUV Area [deg’]= 14.34
MUY Sources (s/n=3) [N]= 39719
NUV Source density (s/n=3) [N/ideg= 2770.11
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Eq. R.A., DEC (J2K) = 305.9948, 54.3440
Gal. I, b = 90.0000, 9.5941

NUV Area [deg’]= 5069
MUY Sources (s/n=3) [N]= 104347
NUV Source density (s/n=3) [N/ideg’]= 2058.73

piel &ll_axpime
Source all_axpime
il expime _|

R

0 200 400 600 800 1000

10°
10*
10°
10°
10°

10°
10

—y

12
10

N/deg”
= L R A 5

MUY explime [s]

pizal Background =
Source background

0.000 0.002 0.004 0.006 0.008 0.010
NUV background [cps/arcsec’]

12 14 16 18 20 22
MUV mag (sn = 3)

= [T T

25
MUV mag (sn = 3)

4 2 0 2 4 6
FUV — NUV mag (s/n = 3)

FUV Area [deg”= 49.63
FUV Source (s/n=3) [M]= 5191
FUV Source density (s/n=3) [N/deg’]=

104 60

FUV — NUV mag (s/n = 3)

10° N
pirel &ll_expime |

Source all_axpime
10* il expime _|
“ 1 -
T il ]

1] 200 400 600 800 1000
FUV exptime [s]

.Hr_-lﬁ — v =
| pizal Background |

sourse background
10%- n
< q02l .
10°F -

0.000 0.002 0.004 0.006 0.008 0.010
FUV background [cps/arcsec’]
12F ]
10F -
~_ 8BF 3
g of ]
< 4F 3
2r 3
ﬂ - : . ) 4
12 14 16 18 20 22
FUV mag (s'n=3)

4F ]
af ;
N
o 2F E
2 F E
1f 1

10 25
10[ ———— .
L fewet penieat § . b
- TS LR ]
15F & ’“‘3*”&-.;??;' A .
= | L LR 1
>0 i o 4
< 20F |, chigtiE A .
oL . . . . . . . J

-4 -2 1] 2 4 & 8 10



ASC 093

Eq. R.A., DEC (J2K) = 299.3063, 68.7041
Gal. I, b = 101.2500, 19.4712

NUV Area [deg’]= 164.40
MUY Sources (s/n=3) [N]= 205810
NUV Source density (s/n=3) [N/ideg®]= 1251.86
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Eq. R.A., DEC (J2K) = 2838740, 48.9146
Gal. I, b= 78.7500, 19.4712

NUV Area [deg’]= 121.76
MUY Sources (s/n=3) [N]= 275142
NUV Source density (s/n=3) [N/ideg]= 2259.70
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Eq. R.A., DEC (J2K) = 269.2994, 61.0328
Gal. I, b= 90.0000, 30.0000

NUV Area [deg’]= 178.23
MUY Sources (s/n=3) [N]= 299448
NUV Source density (s/n=3) [N/ideg®]= 1680.10
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Eq. R.A., DEC (J2K) = 60.6340, 11.0124
Gal. I, b = 180.0000, -30.0000

NUV Area [deg’]= 125.31
MUY Sources (s/n=3) [N]= 56039
NUV Source density (s/n=3) [N/ideg®]= 447.19
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Eq. R.A., DEC (J2K) = 75.3802, 9.0014

Gal. |, b= 191.2500, -19.4712

NUV Area [deg’]= 9286
MUY Sources (s/n=3) [N]= 72085

NUV Source density (s/n=3) [N/ideg®]= 776.40
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Eq. R.A., DEC (J2K) = 61.4408, 256453
Gal. I, b = 168.7500, -19.4712

NUV Area [deg?]= 112.22
MUY Sources (s/n=3) [N]= 80188
MUV Source density (s/n=3) [N/ideg®]= 714.58
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Eq. R.A., DEC (J2K) = 77.4712, 23.6451
Gal. I, b = 180.0000, -9.5941

NUV Area [deg]= 97.56
MUY Sources (s/n=3) [N]= 70108
NUV Source density (s/n=3) [N/ideg®]= 718.64
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Eq. R.A., DEC (J2K) = 89.5310, 47551
Gal. I, b = 202.5000, -9.5941

NUV Area [deg’]= 9.26
MUY Sources (s/n=3) [N]= 10213
NUV Source density (s/n=3) [N/deg®= 1103.12
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Eq. R.A., DEC (J2K) = 103.2325, ~0.7281
Gal. I, b = 213.7500, 0.0000

NUV Area [deg’]= 0.91
MUY Sources (s/n=3) [N]= 2515
NUV Source density (s/n=3) [N/ideg]= 2756.92
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Eq. R.A., DEC (J2K) = 92,5830, 19.1965
Gal. I, b = 191.2500, 0.0000

NUV Area [deg’]= 0.33
MUY Sources (s/n=3) [N]= 1224
NUV Source density (s/n=3) [N/ideg’]= 3679.74
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Eq. R.A., DEC (J2K) = 106.8073, 13.5852
Gal. I, b = 202.5000, 9.5941

NUV Area [deg’]= 59.83
MUY Sources (s/n=3) [N]= 179669
NUV Source density (s/n=3) [N/deg’]= 3003.19
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Eq. R.A., DEC (J2K) = 60.0317, 40.2869
Gal. I, b = 157.5000, -9.5941

NUV Area [deg’]= 90.03
MUY Sources (s/n=3) [N]= 89043
NUV Source density (s/n=3) [N/ideg®]= 989.06
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Eq. R.A., DEC (J2K) = 78.9502, 38.3357
Gal. I, b = 168.7500, 0.0000

NUV Area [deg?]= 53.17
MUY Sources (s/n=3) [N]= 61923
NUV Source density (s/n=3) [N/ideg®]= 1164.66

piel &ll_axpime
Source all_expime
il expime |

_ﬁlﬂ ]

400 600 800 1000
MUY explime [s]

pizal Background ]
Source background

0.002 0.004 0.006 0.008 0.010
NUV background [cps/arcsec’]

0.000

16 18 20 22
MUV mag (sn = 3)

12 14

= [T T

25

MUV mag (sn = 3)

-2 0 2 4 6
FUV — NUV mag (s/n = 3)

10°
10*
10°

10°

0 200

10°
10*
102

10°

10

15

MUV

25

FUV Area [deg?= 53.17
FUV Source (s/n=3) [N]= 7326
FUV Source dersity (s/r=3) [N/deg’]= 137.79

fanl

piel &ll_axpime
Source all_axpime
il expime _|

400 600 800
FUV exptime [s]

pizal Background
3 Source background

0.002 0.004 0.006 0.008
FUV background [cps/arcsec’]

0.000

0.

16 18 20
FUV mag (s'n=3)

12 14

22

= [T T

25

4
FUV — NUV mag (s/n = 3)

-2 0 2 4 6 8

—
=



10°
10*
10°

10°

0 200

10°
104
10°
102
10
10°
10

=

N/deg”
o8& 223

=

= [T T

log s
L

—y

ASC 106

Eq. R.A., DEC (J2K) = 56.2488, 54.8149
Gal. I, b = 146.2500, 0.0000

NUV Area [deg’]= 63.08
MUY Sources (s/n=3) [N]= 55755
NUV Source density (s/n=3) [N/deg®]= 883.93
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Eq. R.A., DEC (J2K) = 81.2244, 52.9976
Gal. I, b = 157.5000, 9.5941

NUV Area [deg’]= 134.28 FUV Area [deg?= 13428
MUY Sources (s/n=3) [N]= 196842 FUV Source (s/n=3) [MN]= 14487
NUV Source density (s/n=3) [N/ideg®]= 1465.93 FUV Source dersity (s/r=3) [N/deg’]= 107.89
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Eq. R.A., DEC (J2K) = 96.2363, 33.5775
Gal. I, b = 180.0000, 9.5941

NUV Area [deg’]= 105.03
MUY Sources (s/n=3) [N]= 254366
NUV Source density (s/n=3) [N/ideg]= 2421.74

piel &ll_axpime
Source all_sxpime
il explime

'_,_|_I_I—|_ .

S I

0 200 400 600 800 1000

10°
10*
10°

10°

—y

12
10

=

MUY explime [s]

__ pizal Background __
Source background
0.000 0.002 0.004 0.006 0.008 0.010
NUV background [cps/arcsec’]
12 14 16 18 20 22
MUV mag (sn = 3)
1] 25
MUV mag (sn = 3)

-2 0 2 4 6
FUV — NUV mag (s/n = 3)

10°
10*
10°

10°

FUV Area [deg?= 105.01
FUV Source (s/n=3) [N]= 15566
FUV Source dersity (s/r=3) [N/deg’]= 14824

piel &ll_axpime
Source all_expime
il explime

0 200 400 600 800 1000

10°
10*
10°

10°

[#5]

= [T T

log s

—y

10

15

MUV

25

FUV exptime [s]

pizal Background N
L source background

0.000 0.002 0.004 0.006 0.008 0.010
FUV background [cps/arcsec’]

12 14 16 18 20 22
FUV mag (s'n=3)

25

4 -2 0 2 4 6 8
FUV — NUV mag (s/n = 3)

—
=



10°
104
10°

10°

10°
10*
102

10°

ASC 109
Eg. R.A., DEC (J2K) = 1118002, 27.5162
Gal. |, b= 191.2500, 19.4712

NUV Area [deg?]= 151.65
MUY Sources (s/n=3) [N]= 344823
NUV Source density (s/n=3) [N/ideg’]= 2274.45
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Eq. R.A., DEC (J2K) = 102.6090, 47.4585
Gal. I, b = 168.7500, 19.4712

NUV Area [deg?]= 171.20
MUY Sources (s/n=3) [N]= 323716
NUV Source density (s/n=3) [N/deg®]= 1890.88
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Eq. R.A., DEC (J2K) = 120.4406, 40.3162
Gal. I, b = 180.0000, 30.0000

NUV Area [deg’]= 196.71
MUY Sources (s/n=3) [N]= 315224
NUV Source density (s/n=3) [N/ideg’]= 1622.85
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Eq. R.A., DEC (J2K) = 89.2004, -61.0328

Gal. |, b = 270.0000, -30.0000

NUV Area [deg?]= 136.49
MUY Sources (s/n=3) [N]= 375464
NUV Source density (s/n=3) [N/deg]=

2750.77
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Eq. R.A., DEC (J2K) = 119.3063, -68.7041
Gal. I, b = 281.2500, -19.4712

NUV Area [deg]= 91.76
MUY Sources (s/m=3) [N]= 162821
NUV Source density (s/n=3) [N/ideg®]= 1774.39
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Eq. R.A., DEC (J2K) = 103.8740, -48.9146
Gal. I, b = 258.7500, -19.4712

NUV Area [deg’]= 59.27
MUY Sources (s/n=3) [N]= 92805
NUV Source density (s/n=3) [N/ideg®]= 1565.91
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Eq. R.A., DEC (J2K) = 125.9948, -54.3440
Gal. I, b = 270.0000, -9.5941

NUV Area [deg’]= 1.56
MUY Sources (s/n=3) [N]= 2323
NUV Source density (s/n=3) [N/ideg®]= 1491.36
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Eq. R.A., DEC (J2K) = 161.5773, -60.8897
Gal. I, b = 292.5000, -9.5941

NUV Area [deg’]= 3237
MUY Sources (s/n=3) [N]= 41741
NUV Source density (s/n=3) [N/ideg®]= 1289.46
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Eq. R.A., DEC (J2K) = 1946531, -62.8604
Gal. I, b = 303.7500, 0.0000

NUV Area [deg’]= 1.07
MUY Sources (s/n=3) [N]= 1928
NUV Source density (s/n=3) [N/ideg®]= 1803.70

FUV Area [deg= 1.07
FUV Source (s/n=3) [N]= 166
FUV Source dersity (s/r=3) [N/deg’]= 155.30
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Eg. R.A., DEC (J2K) = 176.0372, -51.9095
Gal. |, b= 282.5000, 9.5541

NUV Area [deg’]= 66.76
MUY Sources (s/n=3) [N]= 136505
NUV Source density (s/n=3) [N/ideg®]= 2044.67
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Eq. R.A., DEC (J2K) = 110.3508, ~35.0227
Gal. I, b = 247.5000, -9.5941

NUV Area [deg’]= 4.69 FUV Area [deg= 4.42
MUY Sources (s/n=3) [N]= 9664 FUV Source (s/n=3) [N]= 495
NUV Source density (s/n=3) [N/deg’]= 2058.88 FUV Source dersity (s/r=3) [Nideg’]= 112.10
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Eq. R.A., DEC (J2K) = 127.9952, -39.6605
Gal. I, b = 258.7500, 0.0000

NUV Area [deg’]= 10.46
MUY Sources (s/n=3) [N]= 16954
NUV Source density (s/n=3) [N/ideg’]= 1620.44
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Eg. R.A., DEC (J2K) = 113.9791, -20.6274
Gal. |, b= 236.2500, 0.0000

NUV Area [deg’]= 0.34
MUY Sources (s/n=3) [N]= 1641
NUV Source density (s/n=3) [N/ideg’]= 4824.09
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Eq. R.A., DEC (J2K) = 120.2812, -24.9550
Gal. I, b = 247.5000, 9.5941

NUV Area [deg’]= 90.04
MUY Sources (s/n=3) [N]= 201309
NUV Source density (s/n=3) [N/ideg’]= 2235.66
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Eq. R.A., DEC (J2K) = 147.3012, -41.3409
Gal. I, b = 270.0000, 9.5941

NUV Area [deg’]= 78.71
MUY Sources (s/n=3) [N]= 150886
NUV Source density (s/n=3) [N/ideg’]= 1916.93
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Eq. R.A., DEC (J2K) = 166.2781, -38.8827
Gal. I, b = 281.2500, 19.4712

NUV Area [deg’]= 164.14
MUY Sources (s/n=3) [N]= 248502
NUV Source density (s/n=3) [N/ideg®]= 1520.06
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Eq. R.A., DEC (J2K) = 145.4947, -26.7271
Gal. I, b = 258.7500, 19.4712

NUV Area [deg?]= 164.01
MUY Sources (s/n=3) [N]= 285658
NUV Source density (s/n=3) [N/ideg’]= 1766.34
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Eg. R.A., DEC (J2K) = 1616281, -24.7660
Gal. |, b = 270.0000, 30.0000

NUV Area [deg’]= 193.64
MUY Sources (s/n=3) [N]= 322120
NUV Source density (s/n=3) [N/ideg’]= 1663.46
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Eq. R.A., DEC (J2K) = 0.2930, -24.1232
Gal. I, b = 45.0000, -78.2841

NUV Area [deg’]= 185.10
MUY Sources (s/n=3) [N]= 278792
NUV Source density (s/n=3) [N/ideg’]= 1506.14
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Eq. R.A., DEC (J2K) = 353.1613, —12.4844
Gal. I, b = 67.5000, —66.4435

NUV Area [deg’]= 181.01
MUY Sources (s/n=3) [N]= 266248
NUV Source density (s/n=3) [N/deg®]= 1470.93
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Eq. R.A., DEC (J2K) = 346.1988, -28.8415
Gal. I, b = 22.5000, -66.4435

NUV Area [deg’]= 183.84
MUY Sources (s/n=3) [N]= 334456
NUV Source density (s/n=3) [N/ideg’]= 1819.54
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Eq. R.A., DEC (J2K) = 336.6517, —15.1896
Gal. I, b = 45.0000, -54 3409

NUV Area [deg’]= 171.42
MUY Sources (s/n=3) [N]= 250782
NUV Source density (s/n=3) [N/ideg’]= 1462.93
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Eq. R.A., DEC (J2K) = 347 2094, ~1.3102
Gal. I, b = 75.0000, -54 3409

NUV Area [deg’]= 187.01
MUY Sources (s/n=3) [N]= 2089652
NUV Source density (s/n=3) [N/ideg®]= 1121.08
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Eq. R.A., DEC (J2K) = 341.0362, 9.8881
Gal. I, b = 78.7500, 418103

NUV Area [deg’]= 166.87
MUY Sources (s/n=3) [N]= 208887
NUV Source density (s/n=3) [N/ideg]= 1252.37
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Eq. R.A., DEC (J2K) = 3296188, —2.3732
Gal. I, b = 56.2500, -41.8103

NUV Area [deg’]= 176.33
MUY Sources (s/n=3) [N]= 287701
NUV Source density (s/n=3) [N/ideg’]= 1631.58
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Eq. R.A., DEC (J2K) = 326.0328, 12.0826
Gal. I, b = 67.5000, -30.0000

NUV Area [deg’]= 162.45
MUY Sources (s/m=3) [N]= 271671
NUV Source density (s/n=3) [N/ideg]= 1672.37
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Eq. R.A., DEC (J2K) = 332.0026, ~32.0208
Gal. I, b= 15.0000, -54 3409

NUV Area [deg’]= 173.39
MUY Sources (s/n=3) [N]= 350234
NUV Source density (s/n=3) [N/ideg]= 2019.96
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Eg. R.A., DEC (J2K) = 3216108, -17.1286
Gal. |, b= 33.7500, -41.8103

NUV Area [deg’]= 161.16
MUY Sources (s/n=3) [N]= 258401
NUV Source density (s/n=3) [N/deg®]= 1851.59
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Eq. R.A., DEC (J2K) = 306.5379, -21.5646
Gal. I, b = 22.5000, -30.0000

NUV Area [deg’]= 177.33
MUY Sources (s/n=3) [N]= 372825
NUV Source density (s/n=3) [N/ideg]= 2102.42
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Eq. R.A., DEC (J2K) = 314.7797, ~3.8330
Gal. I, b = 45.0000, -30.0000

NUV Area [deg?]= 177.73
MUY Sources (s/n=3) [N]= 350860
NUV Source density (s/n=3) [N/ideg®]= 1974.09
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Eq. R.A., DEC (J2K) = 311.1927, 10.3783
Gal. I, b = 56.2500, -19.4712

NUV Area [deg?]= 146.37
MUY Sources (s/n=3) [N]= 356489
NUV Source density (s/n=3) [N/ideg’]= 2435.52
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Eq. R.A., DEC (J2K) = 3006666, —8.0487
Gal. I, b = 33.7500, -19.4712

NUV Area [deg’]= 157.32
MUY Sources (s/n=3) [N]= 311006
NUV Source density (s/n=3) [N/ideg]= 1976.94
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Eq. R.A., DEC (J2K) = 296.9671, 6.1697
Gal. I, b= 45.0000, -9.5941

NUV Area [deg’]= 75.70
MUY Sources (s/m=3) [N]= 182021
NUV Source density (s/n=3) [N/ideg’]= 2536.62
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Eq. R.A., DEC (J2K) = 15.3864, —15.6499
Gal. I, b = 135.0000, -78.2841

NUV Area [deg?]= 197.19
MUY Sources (s/n=3) [N]= 226166
NUV Source density (s/n=3) [N/ideg]= 1146.96
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Eq. R.A., DEC (J2K) = 26.0713, -7.1862
Gal. I, b = 157.5000, —66.4435

NUV Area [deg’]= 201.59
MUY Sources (s/n=3) [N]= 246342
NUV Source density (s/n=3) [N/ideg= 1221.97
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Eq. R.A., DEC (J2K) = 8.7000, —3.9094
Gal. I, b = 112.5000, —66.4435

NUV Area [deg’]= 209.17
MUY Sources (s/n=3) [N]= 260849
MUV Source density (s/n=3) [N/ideg®]= 1247.55
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Eq. R.A., DEC (J2K) = 19.9271, 78671
Gal. I, b = 135.0000, -54.3409

NUV Area [deg?]= 194.96
MUY Sources (s/n=3) [N]= 214634
NUV Source density (s/n=3) [N/deg®]= 1100.93
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Eq. R.A., DEC (J2K) = 35.8534, 08403
Gal. I, b = 165.0000, -54.3409

NUV Area [deg’]= 184.95
MUY Sources (s/n=3) [N]= 236587
NUV Source density (s/n=3) [N/ideg= 1279.19
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Eq. R.A., DEC (J2K) = 45.6348, 9.1100
Gal. I, b = 168.7500, —41.8103

NUV Area [deg?]= 167.79
MUY Sources (s/n=3) [N]= 105400
NUV Source density (s/n=3) [N/ideg®]= 628.18
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Eq. R.A., DEC (J2K) = 30.9078, 17.7694
Gal. I, b = 146.2500, —41.8103

NUV Area [deg’]= 180.66
MUY Sources (s/n=3) [N]= 152759
NUV Source density (s/n=3) [N/ideg®]= 845.55

10° pixel efl_axpime |
o e erime |
10 s
> i
10° 1
ol —I—‘—l-—l_lﬁ_,—\l_l—‘ i
ol . 0 [l
0 200 400 600 800 1000
MUY explime [s]
105 p|.l.e|1|:‘.&d¢.gr\cund 7]
L sourse background
10% ]
- L i
10°H 1
10°F -
0.000 0.002 0.004 0.006 0.008 0.010
NUV background [cps/arcsec’]
100 F ]
80| .
o 60F .
= o ]
= 40F 3
20F .
0 o ) - . ) .
12 14 16 18 20 22
MUV mag (sn = 3)
4F ]
af ;
-
o 2F E
2 F E
1f 1
10 25
MUV mag (sn = 3)
25F E
20F =
Naﬁ 155— —E
ke, E E
z 10¢ E
5F
0k . 3
-4 -2 0 2 4 6

FUWV - MUV mag (s/n = 3)

10°
10*
10°

10°

0 200

108
104
10°

10°

12

N/deg”
o Y 5 TN A T =

[#5]

= [T T

log s

—y

10

15

MUV

25

FUV Area [deg?= 180.66
FUV Source (s/n=3) [N]= 18052
FUV Source dersity (s/r=3) [N'deg’]= 99.92

pmel efl_axpime |
L Source all_expime

m o

‘ﬂlqmyLﬁwﬁﬂﬂ

400 600 800
FUV exptime [s]

- pizal Background
Source background

0.002 0.004 0.006 0.008 0.010
FUV background [cps/arcsec’]

0.000

16 18 20 22
FUV mag (s'n=3)

12 14

25

-2 0 2 4 6 8
FUWV - MUV mag (s/n = 3)

-4

—
=



108

10*

10°

10°

0 200

108

10

10°

10°

2

N/deg”

N/deg”

=

[T 7% B SN & —

_L e L L L

s QY

ASC 151
Eq. R.A., DEC (J2K) = 45.3974, 23.9968
Gal. I, b = 157.5000, -30.0000

NUV Area [deg?]= 155.06
MUY Sources (s/n=3) [N]= 85639
MUV Source density (s/n=3) [N/ideg®]= 552.29
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Eq. R.A, DEC (J2K) = 2.4395, 7.0733
Gal. I, b = 105.0000, -54.3409

NUV Area [deg’]= 180.30
MUY Sources (s/n=3) [N]= 181479
NUV Source density (s/n=3) [N/deg®]= 1006.55
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Eq. R.A., DEC (J2K) = 13.5129, 21.0573
Gal. I, b = 123.7500, —41.8103

NUV Area [deg’]= 195.35
MUY Sources (s/n=3) [N]= 201388

NUV Source density (s/n=3) [N/deg]= 1030.92
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Eq. R.A., DEC (J2K) = 356.0083, 18.2061
Gal. I, b = 101.2500, —41.8103

NUV Area [deg’]= 188.14
MUY Sources (s/n=3) [N]= 252803
NUV Source density (s/n=3) [N/ideg®]= 1343.73
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Eq. R.A., DEC (J2K) = 2.2031, 320068
Gal. I, b = 112.5000, -30.0000

NUV Area [deg?]= 161.93
MUY Sources (s/n=3) [N]= 257116
NUV Source density (s/n=3) [N/ideg®]= 1587.84
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Eq. R.A., DEC (J2K) = 25.1400, 31.7172
Gal. I, b = 135.0000, -30.0000

NUV Area [deg?]= 162.35
MUY Sources (s/n=3) [N]= 217652
NUV Source density (s/n=3) [N/ideg®]= 1340.59
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Eq. R.A., DEC (J2K) = 41.2165, 38.2110
Gal. I, b = 146.2500, -19.4712

NUV Area [deg’]= 132.47
MUY Sources (s/n=3) [N]= 179250
NUV Source density (s/n=3) [N/ideg’]= 1353.12
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Eq. R.A., DEC (J2K) = 13.9200, 43.3938
Gal. I, b = 123.7500, -19.4712

NUV Area [deg’]= 122.01
MUY Sources (s/n=3) [N]= 211869
NUV Source density (s/n=3) [N/ideg]= 1736.47
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Eq. R.A., DEC (J2K) = 32.1798, 51.4578
Gal. I, b = 135.0000, -9.5941

NUV Area [deg’]= 71.25
MUY Sources (s/n=3) [N]= 120596
NUV Source density (s/n=3) [N/ideg’]= 1692.52
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Eq. R.A., DEC (J2K) = 25.9776, —28.9645
Gal. I, b = 225.0000, -78.2841

NUV Area [deg’]= 192.13
MUY Sources (s/n=3) [N]= 257880

NUV Source density (s/n=3) [N/ideg]= 1342.20
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Eq. R.A., DEC (J2K) = 37.6534, -38.3012
Gal. I, b = 247.5000, —66.4435

NUV Area [deg’]= 191.78
MUY Sources (s/n=3) [N]= 235169
NUV Source density (s/n=3) [N/ideg]= 1226.24
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Eq. R.A., DEC (J2K) = 37.7060, —20.7066
Gal. I, b = 202.5000, -66.4435

NUV Area [deg?]= 185.93
MUY Sources (s/n=3) [N]= 248770
NUV Source density (s/n=3) [N/deg’]= 1343.33
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Eq. R.A., DEC (J2K) = 53.3568, —28.6175
Gal. I, b = 225.0000, -54.3409

NUV Area [deg’]= 167.48
MUY Sources (s/n=3) [N]= 248037
NUV Source density (s/n=3) [N/ideg’= 1481.01
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Eq. R.A., DEC (J2K) = 51.3104, —45.8986
Gal. I, b = 255.0000, -54.3409

NUV Area [deg’]= 195.30
MUY Sources (s/n=3) [N]= 278238
NUV Source density (s/n=3) [N/ideg®]= 1424.65
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Eq. R.A., DEC (J2K) = 68.9195, -51.2334
Gal. I, b = 258.7500, —41.8103

NUV Area [deg’]= 185.55
MUY Sources (s/n=3) [N]= 324643
NUV Source density (s/n=3) [N/ideg®]= 1749.64
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Eq. R.A., DEC (J2K) = 69.0262, -34.5114
Gal. I, b = 236.2500, —41.8103

NUV Area [deg’]= 183.97
MUY Sources (s/n=3) [N]= 228007
NUV Source density (s/n=3) [N/deg’]= 1239.36
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Eq. R.A., DEC (J2K) = 85.6458, —41.7057
Gal. I, b = 247.5000, -30.0000

NUV Area [deg’]= 146.92
MUY Sources (s/n=3) [N]= 230854
NUV Source density (s/n=3) [N/ideg’= 1571.61
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Eq. R.A., DEC (J2K) = 47.4276, ~12.1661
Gal. I, b = 195.0000, -54.3409

NUV Area [deg’]= 193.01 FUV Area [deg?= 193.01
MUY Sources (s/n=3) [N]= 228706 FUV Source (s/n=3) [MN]= 35780
NUV Source density (s/n=3) [N/deg®]= 1190.13 FUV Source dersity (s/r=3) [N/deg’]= 18538
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Eq. R.A., DEC (J2K) = 64.5640, —18.2679
Gal. I, b = 213.7500, —41.8103

NUV Area [deg’]= 173.93
MUY Sources (s/n=3) [N]= 194047
NUV Source density (s/n=3) [N/deg®]= 1115.63
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Eq. R.A., DEC (J2K) = 56.7932, -3.3772
Gal. I, b = 191.2500, —41.8103

NUV Area [deg?]= 169.19
MUY Sources (s/n=3) [N]= 137286
NUV Source density (s/n=3) [N/ideg®]= 811.43
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Eq. R.A., DEC (J2K) = 71.6250, -5.0735
Gal. I, b = 202.5000, -30.0000

NUV Area [deg’]= 104.25
MUY Sources (s/n=3) [N]= 115206
NUV Source density (s/n=3) [N/ideg®]= 1105.04
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Eq. R.A., DEC (J2K) = 79.6906, —22.9007
Gal. I, b = 225.0000, -30.0000

NUV Area [deg’]= 150.48
MUY Sources (s/n=3) [N]= 262598
NUV Source density (s/n=3) [N/ideg]= 1747.69
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Eq. R.A., DEC (J2K) = 94.5476, —28.9559
Gal. I, b = 236.2500, -19.4712

NUV Area [deg’]= 80.81
MUY Sources (s/n=3) [N]= 178685
NUV Source density (s/n=3) [N/ideg= 2211.22
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Eq. R.A., DEC (J2K) = 85.7313, -0.4377
Gal. I, b = 213.7500, -19.4712

NUV Area [deg’]= 36.04
MUY Sources (s/n=3) [N]= 39572
NUV Source density (s/n=3) [N/ideg®= 1088.11

&
10

piel &ll_axpime

Source all_expime

1 ﬂd- il expime _|

10°

10°

111 . . |

400 600 800
MUY explime [s]

0 200

105
10*
10°
102
10

10°
10!

pizal Background
source background

0.002 0.004 0.006 0.008 0.
NUV background [cps/arcsec’]

0.000

120

16 18 20 22
MUV mag (sn = 3)

12 14

= [T T

25

—y

MUV mag (sn = 3)

-2 0 2 4 6
FUV — NUV mag (s/n = 3)

=

MUV

N/deg”
== P L R ono

10°
104
10°

10°

10°
10*
10°
102
10
10°
10

[#5]

log s
3%

—y

10

15

25

FUV Area [deg”= 36.04
FUV Source (s/n=3) [N]= 2245

FUV Source dersity (s/r=3) [N'deg’]=  62.30

piel &ll_axpime
Source all_axpime
il expime _|

. | | i

400 600 800 1000
FUV exptime [s]

pizal Background =
Source background

0.002 0.004 0.006 0.008
FUV background [cps/arcsec’]

0.000 0.010

16 18 20
FUV mag (s'n=3)

12 14

¥
&
&
sovieelvesnnnnsilovevioiesliverpsans

£

15 25

—
=

FUV — NUV mag (s/n = 3)



=

10°
10*
10°

10

10°
10

ASC 175

Eq. R.A., DEC (J2K) = 99.6345, ~15.0385
Gal. I, b = 225.0000, ~9.5941

NUV Area [deg’]= 11.39
MUY Sources (s/m=3) [N]= 17981
NUV Source density (s/n=3) [N/deg®]= 1579.80
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Eq. R.A., DEC (J2K) = 354.0507, -45.3062
Gal. I, b = 337.5000, -66.4435

NUV Area [deg’]= 190.15
MUY Sources (s/n=3) [N]= 384355
NUV Source density (s/n=3) [N/ideg]= 2021.35
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Eq. R.A., DEC (J2K) = 19.3446, ~50.1560
Gal. I, b = 292.5000, —66.4435

NUV Area [deg’]= 187.89
MUY Sources (s/n=3) [N]= 343311
NUV Source density (s/n=3) [N/ideg]= 1827.16
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Eq. R.A., DEC (J2K) = 358.1165, -61.3840
Gal. I, b = 315.0000, -54.3409

NUV Area [deg’]= 186.30
MUY Sources (s/m=3) [N]= 347771
NUV Source density (s/n=3) [N/ideg’]= 1866.72
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Eq. R.A., DEC (J2K) = 3362517, -49.0812
Gal. I, b = 345.0000, -54.3409

NUV Area [deg’]= 181.36
MUY Sources (s/n=3) [N]= 414333

NUV Source density (s/n=3) [N/ideg’]= 2284.65
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Eg. R.A., DEC (J2K) = 316.5578, -50.0236
Gal. |, b = 348.7500, -41.8103
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Eq. R.A., DEC (J2K) = 2965633, -50.6177
Gal. I, b = 337.5000, -30.0000

NUV Area [deg’]= 162.80
MUY Sources (s/n=3) [N]= 366543
NUV Source density (s/n=3) [N/ideg’]= 2254.01
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Eq. R.A., DEC (J2K) = 33.7522, -50.7815
Gal. I, b = 285.0000, -54.3409

NUV Area [deg?]= 170.29
MUY Sources (s/n=3) [N]= 262258
NUV Source density (s/n=3) [N/ideg®]= 1540.33
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Eq. R.A., DEC (J2K) = 10.4555, ~75.3027
Gal. I, b = 303.7500, —41.8103

NUV Area [deg’]= 173.99
MUY Sources (s/n=3) [N]= 384180
NUV Source density (s/n=3) [N/ideg®]= 2208.04
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Eq. R.A., DEC (J2K) = 57.6391, —66.9867
Gal. I, b = 281.2500, —41.8103

NUV Area [deg?]= 163.48
MUY Sources (s/n=3) [N]= 259836
NUV Source density (s/n=3) [N/ideg’]= 1589.43
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Eq. R.A., DEC (J2K) = 83.0035, -80.4028
Gal. I, b = 292.5000, -30.0000

NUV Area [deg’]= 161.63
MUY Sources (s/n=3) [N]= 208646
MUV Source density (s/n=3) [N/ideg®]= 1290.85

pirel &ll_axpime —
Source all_axpime
il explime

400 600
MUY explime [s]

pizal Background
Source background

0.002 0.004 0.006 0.008
NUV background [cps/arcsec’]

0.000 0.010

12 14 16 18 20 22
MUV mag (sn = 3)

= [T T

25

MUV mag (sn = 3)

-2 0 2 4 6
FUWV - MUV mag (s/n = 3)

10°
104
10°

10°

0 200

105
104k
10°+

10°

[#5]

= [T T

log s

—y

10

15

MUV

25

FUV Area [deg?= 157 44
FUV Source (s/n=3) [N]= 15644
FUV Source dersity (s/r=3) [N'deg’]= 99.36

pmel efl_axpime |
Source all_expime
il explime

400 600 800
FUV exptime [s]

1000

pizal background T
L source bachground |

0.002 0.004 0.006 0.008 0.010
FUV background [cps/arcsec’]

0.000

12 14 16 18 20
FUV mag (s'n=3)

4]
4]

25

-2 0 2 4 6 8
FUWV - MUV mag (s/n = 3)

—
=



ASC 188

Eq. R.A., DEC (J2K) = 3008585, -79.0250
Gal. I, b = 315.0000, -30.0000

NUV Area [deg?]= 156.98
MUY Sources (s/n=3) [N]= 225835
NUV Source density (s/n=3) [N/ideg®]= 1439.23
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Eq. R.A., DEC (J2K) = 268.1275, -67.3015
Gal. I, b = 326.2500, -19.4712

NUV Area [deg’]= 110.64
MUY Sources (s/n=3) [N]= 278050
NUV Source density (s/n=3) [N/idegi= 2513.11
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Eq. R.A., DEC (J2K) = 198.6302, -82.3063
Gal. I, b = 303.7500, -19.4712

NUV Area [deg]= 69.19
MUY Sources (s/n=3) [N]= 92041
NUV Source density (s/n=3) [N/deg®]= 1330.33
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Eq. R.A., DEC (J2K) = 228.1425, -69.0002
Gal. I, b = 315.0000, -9.5941

NUV Area [deg’]= 17.89
MUY Sources (s/n=3) [N]= 48424
NUV Source density (s/n=3) [N/ideg]= 2707.43
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